

Advanced Topics in Geometry F (MTH.B502)

Fundamental Theorem for surfaces

Kotaro Yamada

`kotaro@math.titech.ac.jp`

<http://www.math.titech.ac.jp/~kotaro/class/2022/geom-f/>

Tokyo Institute of Technology

2022/08/02

Exercise 6-1

Problem (Ex. 6-1)

Prove Theorem 6.5 for $k > 0$.

Theorem (Thm. 6.5) *local uniqueness for $k = \text{const.}$*

Let $U \subset \mathbb{R}^n$ be a simply connected domain and g a Riemannian metric on U . If the sectional curvature of (U, g) is constant k , there exists a local isometry $f: U \rightarrow N^n(k)$, where

$$N^n(k) = \begin{cases} S^n(k) & (k > 0) \\ \mathbb{R}^n & (k = 0) \\ H^n(k) & (k < 0). \end{cases}$$

show symm

$$\hat{\Omega} = \begin{pmatrix} -c^t \omega \\ c \omega \\ \Omega \end{pmatrix} \Bigg|_{n+1}$$

$k = c^2$

$e_1 \dots e_n$:
orthonormal
frame of (U, g)

$$*d\mathcal{F} = \mathcal{F} \hat{\Omega}; \quad \mathcal{F}(p_0) = id$$

$\omega = \begin{pmatrix} \omega^1 \\ \vdots \\ \omega^n \end{pmatrix}$: the dual

sect. curvature = $k = c^2$

$\Rightarrow *$: integrable

$\Rightarrow \exists \mathcal{F} = (v_0 \dots v_n): U \rightarrow SO(n+1)$

$\textcircled{*} \mathcal{X} = \frac{1}{c} v_0: U \rightarrow S^n(c^2) \subset \mathbb{R}^{n+1}$

is the desired one.

Exercise 6-2

$f: U \rightarrow \mathbb{R}^3$ an immersion

Problem (Ex. 6-2)

ds^2 : the first fundamental form

Prove Lemma 6.6

$\cdot ds^2(X, Y) = \langle df(X), df(Y) \rangle$

Lemma (Lem. 6.6)

$\cdot [e_1, e_2]$: orthonormal

tangent \rightarrow

$v_1 = df(e_1)$

$v_3 = v_1 \times v_2$

$dv_1 = -h^1 v_2 + h^2 v_3$

$dv_2 = h^1 v_1 + h^2 v_3$

$dv_3 = -h^1 v_1 - h^2 v_2$

unit normal

in other words,

$\mathcal{F} = [v_1, v_2, v_3]$

Gauss-Weingarten

$d\mathcal{F} = \mathcal{F}\tilde{\Omega}, \quad \tilde{\Omega} = \begin{pmatrix} 0 & h^1 & -h^2 \\ -h^1 & 0 & -h^2 \\ h^1 & h^2 & 0 \end{pmatrix}$

$[e_1, e_2]$ orthonormal $[v_1, v_2] = [df(e_1), df(e_2)]$

$$v_3 = v_1 \times v_2$$

• $\tilde{h}^i = -\langle dv_3, v_j \rangle$ $h = h^1 e_1 + h^2 e_2$ 2nd fundamental form

($dx = \omega^1 e_1 + \omega^2 e_2$)

$$df = \omega^1 v_1 + \omega^2 v_2 \quad (\omega^1, \omega^2) : \text{dual to } \mathcal{E}$$

$$dv_1 = \cancel{v_1} \oplus \mu v_2 + h^1 v_3$$

$\langle dv_1, v_3 \rangle = -\langle v_1, dv_3 \rangle$

$$\langle dv_1, v_1 \rangle = \frac{1}{2} d\langle v_1, v_1 \rangle = 0$$

$\mu = \omega^1_2$ the connection form (later)

$$d\psi_1 = \ominus \mu \psi_2 + \hbar^1 \psi_3$$

$$d\psi_2 = \mu \psi_1 + \hbar^2 \psi_3$$

$$d\omega^1 = \omega^2 \wedge \omega_2^1$$

$$= \omega^2 \wedge \omega_2^1$$

$$d\omega^2 = \omega^1 \wedge \omega_1^2$$

$$= -\omega^1 \wedge \omega_2^1$$

$$df = \omega^1 \psi_1 + \omega^2 \psi_2$$

$$0 = d\omega^1 \cdot \psi_1 + d\omega^2 \psi_2 - \omega^1 \wedge d\psi_1 - \omega^2 \wedge d\psi_2$$

$$= (\omega^2 \wedge \omega_2^1 - \omega^2 \wedge \mu) \psi_1$$

$$+ (\omega^1 \wedge \omega_2^1 + \omega^1 \wedge \mu) \psi_2$$

$$- (\omega^1 \wedge \hbar^1 + \omega^2 \wedge \hbar^2) \psi_3$$

$$\left\{ \begin{array}{l} \omega^2 \wedge (\omega_2^1 - \mu) = 0 \\ \omega^1 \wedge (\omega_2^1 - \mu) = 0 \end{array} \right.$$

$$\therefore \omega_2^1 = \mu$$

Exercise 6-2

- ▶ $f: U \rightarrow \mathbb{R}^3$, $ds^2 = f^* \langle \cdot, \cdot \rangle$
- ▶ $[e_1, e_2]$: an orthonormal frame of (U, ds^2) ; $\mu = \omega_2^1$: the connection form
- ▶ $v_j = df(e_j)$ ($j = 1, 2$), $v_3 = v_1 \times v_2$
- ▶ $h^j = -\langle dv_3, v_j \rangle$.

\Rightarrow

$$dv_1 = -\mu v_2 + h^1 v_3,$$

$$dv_2 = \mu v_1 + h^2 v_3,$$

$$dv_3 = -h^1 v_1 - h^2 v_2,$$